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Example 2

An investor in Mechatronics startups uses the following heuristics to invest in potential
. ——
new companies

1) The startup is rated for its mechanical design content, either a bad or a good
f 2) The startup is rated for its business potential, either a bad or a good

3) The sales pitch by the founders of the company. This is rated on a scale of 0 to 3 with
0 being poor and 3 being excellent

The investor invests in the startup if the mechanical design content is good and the sales
e e —— C—

pitch is rated 3@f the mechanical design content is good eﬁthe business potential is
ol—————  —

good and the sales pitch is rated either 2 or 3.
- SIS T ———

Develop a Boolean expression and then a Boolean circuit for the investors heuristics
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